ITEM

QTy.

PARTH#

DESCRIPTION

=

1555-1

Winch Mount Plate

HDW1054

8mm x 25mm Hex Bolt

HDW2105

3/8 X 2 Hex Bolt

HDW7061

3/8 Nylock Nut

WINCH MOUNT INSTALLATION INSTRUCTIONS

KD23P

1" U-Clamp

95-01 Honda Foreman 400 / 98-04 450 Foreman S/ES

HDW9407

7/8" U-Clamp

HDW2004

1/4 x 1-3/4 Hex Bolt

NOTE: Fairlead is not included with this winch mount kit

HDW7050

1/4 Nylock Nut

Ol (N[ |h]|JWIN

NININININ[NININ |-

HDW9012

1/4 Flat Washer

Remove the (2) 8mm support arm bolts that attach the bumper to the frame and discard.
Install the winch to the mount using the hardware provided with the winch. Slide the complete unit under the
front fender between the bumper tubes per the illustration. Make sure the wires for the headlight are between

the frame tube and the winch mount.

Install the (2) provided 8mm x 25mm bolts in place of discarded bolts. Install the 1" u-clamps around the frame
tubes at the top of mount from the inside and install the (2) 3/8" bolts and Nylock nuts through the mount and

u-clamps. Tighten all bolts securely.

Install the 3/4" u-clamps around the bumper middle support arms from the outside of the tubes inward. Install
the 1/4" bolts through the winch mount front arms, then through the clamps and install the 1/4" flat washers

and Nylock nuts. Tighten all bolts securely.

Bolt fairlead in place with hardware provided by winch manufacturer and wire to there instructions.

FOR QUESTIONS OR COMMENTS PLEASE CALL: 320-964-1616 ( 7:00 to 4:30 CST)

INST1555




